Functions Question Type A
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e.g.l A function is described by the following rule: f(x)=

a) Determine over which interval this function is positive.
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1. Afunction is described by the following rule: f(x) = _—54£ $32 ® Ny <" 4232
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2. A function is described by the following rule: f(x)= — 2= +2 C'Lji,é)
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a) Determine over which interval this function is positive. : @ vz - % i
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b) Determine the rate of change of this function.
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3 A function is described by the following rule: f(x) = s +3
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a) Determine over which interval this function is positive. L >
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b) Determine the rate of change of this function. \
-5 (o >
Answer: [
3 (31 8)
4. A function is described by the following rule: f(x) = “Tx +2 o
a) Determine over which interval this function is positive.
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e.g. 2 A function is described by the following rule: f(x) = Tx 1 g oAE )
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a) Determine over which interval this function is negative. e.q.2
Answer: — b 4 1.5 [
b) Determine the rate of change of this function. /
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1. A function is described by the following rule: f(x) = o ~1
a) Determine over which interval this function is negative. % A
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2. A function is described by the following rule: f(x) = ?x -2 O i ik
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A function is described by the following rule: f(x)= I 2 ’g = X
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a) Determine over which interval this function is negative.
%
Answer: -0, L% Y-
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b) Determine the rate of change of this function.
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A function is described by the following rule: f(x) = Ix -2 0 Y =
a) Determine over which interval this function is negative. Josalh ek -
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A function is described by the following rule: f(x) = Tx =3 — N -
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a) Determine over which interval this function is negative. ‘ e \S
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e.g. 3 A function is described by the following rule: f(x)= —x* + 4
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a) Determine the interval over which this function is positive. ©
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b) Determine the interval over which this function is decreasing.
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. A function is described by the following rule: f(x)= —x’ +16 {—int -'(D‘,\ib)fj_:: e
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a) Determine the interval over which this function is positive. Le¥ \ =© Q2 %'+ L(;
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b) Determine the interval over which this function is decreasing. ' (o,\b)’ v
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A function is described by the following rule: f(x)= —x* +1 L83 ( he
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a) Determine the interval over which this function is positive. —_

Answer: ]"‘ \ 3 \ Y.
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b) Determine the interval over which this function is decreasing.
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A function is described by the following rule: f(x)= —x° + 25

a) Determine the interval over which this function is positive.
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b) Determine the interval over which this function is decreasing.
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4. A function is described by the following rule: f(x) = - x> +36

a) Determine the interval over which this function is positive. »
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b) Determine the interval over which this function is decreasing.
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A function is described by the following rule: f(x) = — x? +49

a) Determine the interval over which this function is positive.

Answer: [_ = g —1—1

b) Determine the interval over which this function is decreasing.
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c.g. 4 A function is described by the following rule: f(x)= x" -4 © =( %
a) Determine the interval over which this function is negative. 7
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b) Determine the interval over which this function is decreasing. i
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1. A function is described by the following rule: f(x)= x* —1
a) Determine the interval over which this function is negative. A 1
Answer: r =1 \‘\ <
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b) Determine the interval over which this function is decreasing.
Answer: —~ o0, 01
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A function is described by the following rule: f{(x) = x" -16

a) Determine the interval over which this function is negative.

Answer; Lr-—- “(\ ‘-\)

b) Determine the interval over which this function is decreasing.

Answer: o0, b)

A function is described by the following rule: f(x) = x* —25

a) Determine the interval over which this function is negative.

Answer: (— 5 5 5\
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b) Determine the interval over which this function is decreasing.

Answer: -, 0‘\

A function is described by the following rule: f(x)= x" —36

a) Determine the interval over which this function is negative.

Answer: [ o " (0_1

b) Determine the interval over which this function is decreasing.

Answer: — eb 61

A function is described by the following rule: f(x)= x> —49

a) Determine the interval over which this function is negative.
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b) Determine the interval over which this function is decreasing.

Answer: = W, 01
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